目录

1

一、
性能和特点 Performance and special Features

1

二、
主要技术规格 Main technical data

2

三、
耙的结构 Construction

3

四、
耙的使用、调整和保养 Use Adjustment and Care



性能和特点 Performance and special Features

1BJX悬挂中耙适用于耕后碎土，播前整理，土肥混合和轻中质土壤的灭茬作业。

该机具结构简单，坚固耐用，使用方便，保养宜行，入土碎土性能良好，耙后地表平整，能满足细作的农艺要求。
二十四片悬挂中耙主配75马力拖拉机。

1BJXsuspension middle-duty disc harrow with 20 blades is suitable for pulverizing and loosening clods after ploughing and for planning the land before sowing. On cultivated land it can make soil and fertilizer mix up and clear away the stump of plants.

The harrow is simple in construction, durable in service, ready to operate, easy to maintain and efficient in pulverizing and penetrating into the soil and leaves the land with a smooth, even tilth. All these satisfy the agricultural re uirem ents of intensive cultivation.

The harrow with 24 blades is best to be used with a 75 horse power tractor.

主要技术规格 Main technical data

	Model
	unit
	1BJX-1.8
	1BJX-2.0
	1BJX-2.2

	Working width
	M
	1.8
	2.0
	2.2

	Working depth
	mm
	140
	140
	140

	Q'ty of disc
	 
	16
	18
	20

	Disc diameter
	mm
	560
	560
	560

	Total weight
	kg
	390
	434
	463

	Matched power
	hp
	45
	50
	55~65

	Linkage
	                Standard three-point mounted


耙的结构 Construction

该耙由把耙架组合1，前耙组2，后耙组3，等零件组成。

耙架组合由耙架4，支架5，悬挂轴6，等零件组成。

耙组是由：横梁7，外垫8，耙片9，凸面间管10，轴承组合11，凹面间管12，间管13，内垫14，方轴15，连接梁16，刮泥刀17，刮泥刀横梁18，等零件组成。（见图一）

This harrow is composed of the following parts: (1)harrow frame assembly, (2)the front disc assembly, (3)the rear disc assembly, (4)harrow frame, (5)supporting frame, (6)suspension axle and the rest. The disc assembly is made up of(7)cross beam, (8)external washer, (9)disc (10)convex spacer spool, (11)bearing assembly, (12)concave spacer spool, (13)spacer spool, (14)internal washer, (15)the axle with cross section, (16)connection beam, (17)scraper, (18)scraper beam, and                                                   (Fig 1)   

[image: image1.jpg]g
Q
4\ ) /
[
§





图一  Fig.1.
轴承组合由轴承支板1，轴承座2.和外球内方孔向心球轴承3，等零件组成。（见图四）

外球面内方孔向心球轴承具有良好的密封性，全机无润滑点，不需每班润滑。（见图五）

耙片配置一般采用前列缺口，后列圆盘，相邻耙片缺口应错开安装。

Bearing assembly consists of (1) bearing supporting plate, (2) bearing base, (3) ball bearing with sphere-outside and square-hole-inside and the rest, (Fig.4.)

Ball bearing with sphere-outside and square-hole-inside is well sealed. The whole harrow has no lubricating points and there is no need of lubricating it in each shift. (Fig.5.)

While assembly, install that the cut-outs of the disc are arranged in a spiral line. (approximately)

[image: image2.jpg]



图四 Fig.4.                                 图五  Fig.5.

耙的使用、调整和保养 Use Adjustment and Care

耙的使用规则：

装配后耙的所有紧固件应紧固，耙组应转动灵活。

耙在作业时禁止后退，转弯时必须升起。

耙深调整：

调整耙组偏角：耙深随耙组偏角加大而加深。

调整悬挂孔位：在一般情况下，提高下悬挂点和降低上悬挂点的孔位可增加耙深。

耙的横向水平和纵向水平调整：

通过调整拖拉机悬挂左右吊杆和拉杆长度来解决。

消除偏牵引：

将拖拉机悬挂机构的拉杆放长，或同时将前后耙组向相反方向移动相等距离，或减少前耙组偏角。

刮泥刀刃口与耙片凹面之间间隙应保持在1-8毫米，遇粘重土壤或多杂草作业时，其间隙应尽量放小。

每季作业结束后，应清洗轴承，加注润滑油，并保养其他机件。

Oration procedure

All the fasteners of the harrow should be tightened and the disc assemblies can rotate freely.

In operation of the harrow prohibite it from moving bock ward. The harrow should be lifted when it turns the corner.

The adjustment of harrowing depth

Adjust the angularity of the two disc gangs. And the harrowing depth, will be deeper according to the angularity being increased.

To increase the harrowing depth, the down suspension point may be adjusted upward and the up suspension point downward.

The adjustment of the cross level and the longitudinal level of the harrow can be solved through the adjustment of suspension hanging rod of the tractor, the left and the right hanging rod and the length of the draw rod.

To raze the deflection hitch



We may get the suspension draw rod of the tractor longer, or make the two disc assemblies move the same distances in the opposited directionse, or decrease the angularity of the front assembly so as to raze the deflection hitch.

The clearance between the scrapers and the concave sides of the discs should be kept with the range of 1-8mm, If the soil moisture content is too high, or there are a great many weeds on the land, this clearance should be as small as possible.

Wash the bearings and then lubricate them with grease and maintain the other parts and the tools.

1BJX-2.5

24片悬挂中耙零部件目录

Contents of Parts and Units

	序号
NO.
	零件名称
	name
	数量
Quantity

	1
	耙组横梁焊合
	Disc assembly cross beam welded joint
	2

	2
	轴承支板焊合 
	Bearing supporting plate welded joint
	8

	3
	耙架焊合 
	Harrow frame welded joint
	1

	4
	立柱焊合 
	Standing rod welded joint
	1

	5
	斜撑杆焊合
	Cross draw rod welded joint
	1

	序号
NO.
	零件名称
	name
	数量
Quantity

	6
	联结梁焊合 
	Connecting beam welded joint
	8

	7
	间管 
	Spacer spool
	12

	8
	大端头间管
	Big-end spacer spool
	8

	9
	小端头间管 
	Small-end spacer spool
	8

	10
	外垫
	External washer
	4

	11
	内垫
	Internal washer
	4

	12
	方轴
	Axle with square cross section
	4

	13
	悬挂轴
	Suspension axle
	2

	14
	缺口耙片 
	Cut-out disc
	12

	15
	圆盘耙片 
	Disc 
	12

	16
	轴承座
	Bearing base
	16

	17
	刮泥刀梁
	Scraper beam
	4

	18
	后刮泥刀
	Rear scraper
	12

	19
	前刮泥刀
	Front scraper
	12

	20
	六角螺栓M12×35
	Six-angle bolt M12×35
	48

	21
	六角螺栓M12×60
	Six-angle bolt M12×60
	8

	22
	六角螺栓M20×55
	Six-angle bolt M20×55
	20

	23
	六角螺栓M16×120
	Six-angle bolt M16×120
	1

	24
	六角螺栓M20×140
	Six-angle bolt M20×140
	1

	25
	六角螺栓M24×210
	Six-angle bolt M24×210
	2

	26
	六角螺栓M20×65
	Six-angle bolt M20×65
	2

	27
	轴承39620/F33
	Bearing 39620/F33
	8

	28
	弹簧垫圈12
	Spring washer 12
	56

	29
	弹簧垫圈16
	Spring washer 16
	1

	30
	弹簧垫圈20
	Spring washer 20
	21

	31
	六角螺母M24
	Six-angle nut M24
	2

	32
	六角螺母M12
	Six-angle nut M12
	56

	33
	六角螺母M16
	Six-angle nut M16
	1

	34
	六角螺母M20
	Six-angle nut M20
	23

	35
	六角螺母M30
	Six-angle nut M30
	6

	36
	六角扁螺母M30
	Oblate belt with Six angle M30
	4

	37
	大垫圈12
	Big washer 12
	24

	38
	大垫圈16
	Big washer 16
	1

	39
	大垫圈24
	Big washer 24
	4

	40
	大垫圈20
	Big washer 20
	23



5

